R B X ik & #&% &

R B E KR () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 429,492 -1.8 338,554 -3.5 768,046 -2.6
" %8 Hy 177,838 —0.8 154,666 -2.9 332,504 -1.8
B 1% 304,998 -0.8 191, 096| -1.8 496,094 -1.2
e LN Y 190,474 -0.2 119,816 -5.3 310,290 -2.2
i Hy 221, 154 0.5 86,808 -1.7 307,962 -0.1
Hi JI| 380,300, -1.9 263,176 -2.2 643,476 -2.0
x 3 L 114,722 1.3 73,694 -0.6 188, 416 0.6
K P 116, 814 0.1 68,040 -1.9 184,854 | -0.7
i i 173,886 -1.0 93,628 -2.2 267,514 -1.4
i 15 220, 356 1.2 153,938 -0.8 374, 294 0.4
e R, 103,094 -0.5 50,606 -2.9 153,700 -1.3
Fe + 7 30, 922 2.5 10,498 -2.9 41, 420 1.1
oo &l 32,874 2.3 27,870 0.3 60, 744 1.4
1 e 490, 260 0.2 309,004 -1.9 799,264 -0.6
R L oy B 45, 442 0.9 17,780 -1.2 63, 222 .3
W = % 83, 086 1.3 32,548| -1.5 115, 634 .5
= 73 151,650 -0.5 59,332] -1.5 210,982 -0.8
K s 119, 106 0.6 67,578 0.5 186, 684 0.5
MEMEABRIL, (REAEX2) TEHELTWET,
= 7 3,386,468 -0.4]| 2,118,632 -2.3| 5,505,100 -1.1




() ANBOHM., T%1 M aiEEmns

o

P 3 A B N wmom AN B (AN
EOM % E A % gt % %

H 380,300, -1.9 263,176 -2.2 643,476 -2.0
K Iy 161, 926 1.6 87,228 -1.3 249, 154 0.5
o H 158,894 -1.0 105,458 -2.9 264, 352 -1.7
H B 116,588 -1.2 93, 256| -1.0 209,844 -1.1
& # 142,666 -1.3 123,268 -1.1 265,934 -1.2
12 7 439,174] -3.6 385,308] -2.9 824,482 -3.3
JR i 51,5101 -3.0 99, 650 3.8 151, 160 1.4
R K 69,032 -3.2 71,506 -0.7 140,538 -1.9
Fe i 796,690 -2.3 700, 352 -2.3| 1,497,042 -2.3
B {5 31,978 2.2 37,5861 -0.1 69, 564 -1.1
= Y 250,022 -0.7 159,032 -1.8 409,054 -1.1
H H 46, 466 —-2.4 29,968 -3.1 76,4341 -2.7
h 18 642,760 -3.1 453,738 —-2.2| 1,096,498 -2.7
x 73 58,2261 -0.3 48, 364 2.1 106, 590 -1.1
4 e 92, 394 .3 62,642 -1.8 155,036 -0.6
1) A 55, 768 .1 37,2800 -1.5 93,048 -0.5

Uit 49, 034 1.2 37,024 0.3 86, 058 0.8

XA BEIT, CGREARX2) THAELTWET,

3,543,428 -2.0| 2,794,836 -1.9| 6,338,264 -2.0




3] iz ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
) e 220, 356 1.2 153,938 -0.8 374, 294 0.4
i F 15, 880 0.4 7,384 -1.7 23,264 -0.3
N 1] 23,110 -0.1 8,412 -0.3 31, 522 -0.2
JEE I a5} 23,250 -2.6 11,804 -2.0 35,054 -2.4
¥ Eil 19,758 -0.6 8,476 -2.8 28,234 -1.3
[1] ] Ji 20,468 -7.2 6,730 -6.4 27,198 -7.0
Y - A N 100, 992 0.3 52,668 -1.9 153,660 -0.5
® o P R 42,672 0.1 19,5701 -2.9 62,242 -0.9
® O F W 42, 278 1.1 19,776 -0.7 62, 054 0.5
H O o on 95, 582 1.2 52,776 1.1 148, 358 1.2
bES F [l 3,854 -1.2 3,416] -2.0 7,270 -1.6
A Hh 18,226 -1.3 8,024 -1.1 26,250 -1.3
i i) Ji 9, 080 0.2 5,490 -0.4 14, 570 0.0
x5 = 98, 692 1.2 48,072 0.1 146, 764 0.8
th 2y = 19, 550 0.5 8,680 -1.8 28,2301 -0.2
I a5} B 30, 120 3.0 14, 284 0.1 44, 404 2.0
x e N 11, 580 2.8 6, 126 2.8 17,706 2.8
W B W 9,012 -0.8 4,100 -0.2 13,112 -0.6
£3) % & 7,598 0.0 4,562 -0.8 12,160 -0.3
/ST S N ) 14,970 .8 19,636 -2.9 34,606 -1.4
o I (TN 50,194 -8.2 25,086| -3.8 75,280 -6.8
i) JF 8, 756 — 4, 538 — 13, 294 —
v £ 12, 886 1.1 6,464 -5.4 19,350 -1.2
x JI 9, 632 1.2 5,090 -1.2 14, 722 0.3
[if] S 13,382 -0.2 5,924 2.7 19,306 -1.0
YA I 172, 166 1.2 143,968 -1.5 316, 134 0.0
XKEREANBEIT, CGREABX2) THELTWET,
= 7 1, 094, 044 0.3 654,994 -1.3| 1,749,038 -0.3




K & ¥ ® ) ANBOHM, [%1 WL aaEsmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
Moo AR HT 14,970 0.8 19,636 -2.9 34,606 -1.4
i I H 20, 388 0.6 5,782 -4.5 26,170 -0.6
[if] 7 5F 29, 488 0.1 23, 458 .8 52, 946 0.4
H /I I 15, 178 4.3 7,406 .5 22,584 3.0
Hr K H 47, 396 1.1 25,824 -1.2 73,220 0.3
H AT N 20,616 0.8 8,530 -2.3 29,146| -0.2
E<l) JEE 24, 864 0.3 9, 090 1.2 33, 954 0.5
5 7 [EES 83, 706 2.5 40, 116 0.1 123, 822 1.7
[if] i} F 18,5501 -0.3 7,308 2.4 25,8581 -0.9
®_oOOE i o 59, 190 3.2 31, 464 2.0 90, 654 2.7
P il fn 70, 868 0.3 43,622 -1.4 114,490 -0.4
R il fn 37, 822 0.5 14,706 -0.6 52, 528 .2
H I 5] 39, 124 1.8 18,726 -2.8 57, 850 .3
2] i A 84, 538 1.5 46, 224 0.5 130, 762 1.2
[ A A 7 A 10, 134| 56.8 17,492 25.8 27,626 35.6
£ I 26,844 -2.0 10,886 -3.6 37,730 -2.5
Hr = i 18,988| 10.9 13,684 87.9 32,672 33.9
= B 20,042 -1.7 9,496| -0.4 29,538 -1.3
£3) it ] 33, 996 5.8 18, 332 4.4 52, 328 5.3
Fen N = 45,366 -1.9 27,016 -0.1 72,382 -1.2
b AN ¥ 29, 338 1.5 16, 834 0.0 46, 172 .0
H LN =l 18, 664 5.3 8, 896 1.5 27, 560 4.0
Mmoo Kk 15,712 -1.2 6,806 -2.2 22,518 -1.5
TR T i 20, 292 0.6 13,790, -1.5 34,082 -0.3
i) oA 1% 160, 092| -0.9 90, 136 0.1 250,228 -0.5
MEEANBEEL, CGREAEX2) TEHELTWET,
& 7 966, 166 1.4 535, 260 1.6 1,501, 426 1.5




& = ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
oo & 32,874 .3 27,870 0.3 60, 744 1.4
X ] 22,510 0.7 11,834 -1.1 34, 344 0.1
3] % 64, 100 0.3 3b, 384 0.4 99, 484 0.4
H F s 58, 344 1.6 48,914 1.8 107, 258 1.7
7N HL 11,830, -1.9 7,490| —10.2 19,320 -5.3
05 S 52,266] -0.9 25,226 -2.9 77,492 -1.6
=a il 48, 818 1.4 24,886 -0.3 73,704 0.9
+ B W % 26,746 -2.0 15,246 -1.9 41,9921 -2.0
& H i 73,252 0.6 38,782] -1.3 112,034 -0.1
% WH 24,368| —0.2 14,278 -1.1 38,646 -0.5
N i 130, 732 0.5 84,866 -1.7 215,598 -0.4
o il 27, 158 .5 15,2441 -0.9 42,402 0.0
il (e i 55,472 .6 23,046 -0.2 78,518 1.8
K =l 15,270 -1.7 7,078] -0.5 22,3481 -1.3
AH i Ji 3b,146] -0.9 20,628 -1.3 55,7741 -1.1
& PN 75,104 0.4 42,994 -0.9 118,098 -0.1
1 JE 14, 198 0.1 5,994 -2.4 20,192 -0.7
N E A B g B B 28, 288 1.2 9, 292 1.1 37, 580 1.2
il A 6,474 -0.7 3,880 -1.5 10,354 -1.0
AN + + 92,130 -2.2 68,414 -3.1 160,544 -2.6
XEEANBEIL, GREABEX2) THELTWET,
= 7 895, 080 0.2 531,346 -1.2| 1,426,426 -0.3




iR =3 ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
R 4 EOM % E A % 7t % %
Ui 490, 260 .2 309, 004 .9 799,264 -0.6
(P VN ] 61, 544 .4 59, 390 .3 120, 934 0.0
£3] N 57, 362 0.2 56, 610 LT 113,972 -0.7
£ JI Y 41, 138 1.3 29, 102 .4 70, 240 0.9
] + 25,004 -0.4 9, 358 .2 34,3621 -0.3
AR )= 28,166| -0.5 13, 162 .4 41,328 -0.8
% * 24,7321 -1.7 12,616 .1 37,348 -1.5
H # H 48,852 -0.3 25,978 ) 74, 830 0.0
T ot =) 29,068 -1.1 14,254 -2.4 43,3121 -1.5
bES £ a 46, 378| 2.6 21,126 -2.5 67,504| -2.6
PN il =) 26, 320 0.1 12,196 -1.0 38,516 -0.2
PN ity 119, 106 0.6 67,578 0.5 186, 684 0.5
XORBEABEIE, (REABEX2) THELTWET,
= 7 997, 920 0.0 630,374 -1.3| 1,628,294 -0.5




R () ANBOHM., T%1 M aiEEmns

o

il % % A B A @ o A B (N
£ % E A % at % %

A 429,492 -1.8 338,554 -3.5 768,046 | -2.6
1 304,998 -0.8 191,096 -1.8 496,094| -1.2
JI 380, 3001 -1.9 263,176 2.2 643,476 -2.0
JI 17, 876 0.4 10,2501 -2.2 28,126 -0.6
2 100, 992 0.3 52,668 -1.9 163,660 -0.5
My 39,7200 2.7 14, 422 -4.9 54,142 -3.3
e 490, 260 0.2 309,004 -1.9 799,264 -0.6
g 45, 442 0.9 17,780 -1.2 63, 222 .3
I &% 83, 086 1.3 32,548 -1.5 115, 634 .5
B 151,650 0.5 59,332 -1.5 210,982 -0.8
e 119, 106 0.6 67,578 0.5 186, 684 0.5
B 10,978 -0.6 6,056 -0.6 17,034 -0.6
=) 38,532 0.5 42,096 -0.8 80,628 -0.1
bk + 37,718 0.5 19,362 -0.6 57, 080 0.1
) b + 7,178 -0.5 3,486 -2.8 10,664 -1.3
H i 3,382 -0.9 1,916 -2.1 5,298 -1.4
F A (= 6,114 -2.0 5, 960 0.3 12,074 -0.9
K A 12,468 -1.4 5,864 -2.3 18,332 -1.7
UN e 8,574 0.5 5,172 -2.4 13,746 -1.2

XOREEABEIT, CREABX2) THAELTWET,

KOPRR 22 423 H 13 B BZHBERREUEVIMZER PR3
TR E R B ERT O R O B O BB 2 & A E T,

2,287,866 —0.7]| 1,446,320| -2.2| 3,734,186| -1.3




BoR K R () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 429,492 -1.8 338,554 -3.5 768,046 -2.6
Zii H 125,780 -2.0 81,430 -2.1 207,210 -2.0
oK K 125,956 -1.1 80,064 -2.3 206,020 -1.6
7K 1 1 94, 424 0.3 80,492 -2.3 174,916 -0.9
B a8} & 113,620 -0.2 66, 686 —0.4 180,306 —0.3
il r 7~ 78,416] -0.7 40,942 -1.7 119,358 -1.0
(Y P4 w 120, 796| -0.8 61,114 -2.0 181,910 -1.2
B =3 T 24, 860 0.9 29, 886 0.2 54, 746 0.5
F OB oy B 16,696 -4.5 24,354 -3.1 41,050 -3.7
1 & S 69,032 -3.2 71,506] -0.7 140,538 -1.9
Hr 15 796,690 -2.3 700, 352 -2.3| 1,497,042 -2.3
PN A (G 26,468 -2.0 21,706 -2.1 48,174 -2.0
W i L5 45,954 -0.1 33,350 -1.5 79,304 -0.7
h By 150, 886 0.0 98,102 -0.3 248,988 -0.1
& | ¥ 56,634| -1.6 41, 524 0.9 98,1568 -0.6
I = SN 52,256] -0.5 36,350 -1.4 88,606 —0.9
FK 7 103,120 -1.5 67,526 -2.1 170,646 -1.7
i) FK bad 46,858 -1.5 34,5321 -1.6 81,390 -1.5
& P < 163,274 -0.6 119,352 -2.3 282,626 -1.3
= & 118,582 -0.2 60, 760| -1.8 179,342 -0.7
= i B 83, 272 1.3 40,066 -0.7 123, 338 0.6
) ] N S 38,976 -1.1 16,808 -2.5 bh,784| -1.6
RV A N O 74, 908 0.5 36, 574 0.8 111, 482 0.6
o7 F 141,792 -0.9 70,836 -2.4 212,628 -1.4
i8] o 29, 488 0.1 23, 458 0.8 52, 946 0.4
VA 70,736] -1.4 35,9541 -2.1 106,690 -1.7
YA I 172, 166 1.2 143,968 -1.5 316, 134 0.0
H L5 38,664 -1.0 16,014 -3.3 54,678 | -1.7
g 5] 44,900] -3.1 17,738 -5.6 62,638 -3.8
AN + + 92,130 -2.2 68,414 -3.1 160,544| -2.6
moooN E F 43, 130 0.1 18,784 -0.5 61,914 -0.1
= FE 42,092] -3.1 19,632 -1.4 61,724 -2.5
XEBEANBEIL, GREABEX2) TEHELTWET,
= 7 3,632,048| -1.2] 2,596,828| -2.0| 6,228,876| -1.6




R () ANBOHM., T%1 M aiEEmns

o

il % % A B A @ o A B (N
£ % E A % at % %

SE JI 172, 166 1.2 143,968 -1.5 316, 134 0.0
[} I ) 6,532 0.3 6, 434 0.1 12,966 —0.1
H® i 9,428 -0.3 4,620 2.2 14,048 -0.9
H Zid 13,4801 -0.9 6,686 —0.3 20,166 -0.7
HE = 33,292 -1.2 18,634 -0.6 51,926 -1.0
# = 37,3021 0.8 19, 398 0.0 56,700 -0.5
+ e 4,756 -0.8 3,876 —0.7 8,632 —0.7
& 4 20,474 -1.6 12,246 -2.3 32,7201 -1.8
Ff 19,044 -1.5 9,144, -1.7 28,188 -1.6
1E 24,278 -1.1 10,770 -3.2 35,048 -1.8
12 17,776 0.1 9,144 -1.9 26,920 -0.6
H i 9,606 -1.5 4,122 -1.2 13,728 -1.4
il 10, 304| -1.7 4,366 -2.9 14,670 -2.1

XOFERABET, CEEABX2) THAELTWET,

378, 438 0.0 253,408 -1.4 631,846 -0.6




E B WO () ANBOAEM. (%] M arEns

il B 43 A g (N o AN B ()
R 4 £ M % E A % 7 % %
# = 37,302] -0.8 19, 398 0.0 56,700 -0.5
il I 2,010 -3.3 984 -1.4 2,994 -2.7
H FK = 6,976 -1.6 2,700 -0.6 9,676 -1.3
FK ) 10,426| -1.0 4,296 -1.4 14,722 -1.2
® W 51 H 6,088 -2.5 1,998 -4.5 8,086 -3.0
STV A N =) 3,778 —2.4 1,532 0.4 5,310 -1.6
® O OB W 6,324 -1.8 3,072 -0.3 9,396 -1.3

MEEREABSIT, (REABX2) TRHHELTWET,

p=(tl

o
i

F 72,904 -1.3 33,9801 -0.6 106,884 | -1.1




R & X & ) ANBOHM, [%1 WL aaEsmns

il B 43 A g (N o AN B ()

B 4 EOM % E A % 7t % %
R H 429,492 -1.8 338,554 -3.5 768,046 -2.6
Zii H 125,780 -2.0 81,430 -2.1 207,210 -2.0
K p- 3 Ji 207, 620 1.4 241,594 -0.8 449, 214 0.2
il [ 7 78,9741 2.9 64,892 -2.9 143,866 | -2.9
- i 176,308 -1.1 180,516 -2.0 356,824 -1.6
% Za 20,698 -0.8 26,078 -1.8 46,776 -1.3
H -3 H 103, 372 6.1 85, 484 2.0 188, 856 4.2
Bm H FH H 119,724 -0.5 68, 152 0.0 187,876 —0.3
S} i 49, 034 1.2 37,024 .3 86, 058 0.8
*+ h B 9,334 -4.9 5,344 -2.5 14,678 -4.0
+ -+ 80,520 -0.7 42,4401 -0.8 122,960 -0.7
W + ES 26, 700 0.3 16,430 -0.1 43, 130 0.2
7R D 102, 778 -0.1 73,392] -0.6 176,170 -0.3
I H 106, 194| -0.5 52,718 -1.6 158,912 -0.9
[if] JI m| 68, 314 0.7 33,654 -1.0 101, 968 0.1
ik 82,362 -1.5 35,012] -1.9 117,374 -1.6
] i} n 70, 868 .3 43,622 -1.4 114,490 -0.4
i} fn 103, 588 ! bh,164| -2.2 158, 752 -0.5
[ il Fn 69, 982 0.7 31,002] -2.4 100,984 -0.2
5. g 36,438] -0.3 13,288 -2.9 49,726 -1.0
SR = S T 45, 082 0.5 33,8041 -0.2 78, 886 0.2
PN = 299,000 -0.6 173,846 -2.7 472,846 -1.4
= UN 10, 216 0.7 5,128 -0.9 15, 344 0.1

XEREANEEIL, GREAEX2) TEHELTWET,

= 7 2,422,378 -0.4| 1,738,568 -1.8| 4,160,946 -1.0




R R () ANBOHM., T%1 M aiEEmns

o

Gl % % A B A @ o A B (N
£ % E A % at % %

N 642,760| 3.1 453,738 -2.2| 1,096,498 -2.7
1 34,8421 -1.1 24,198 -0.1 59,040 -0.7
% 45, 898 2.5 21,866 -1.1 67, 764 1.3
P 102, 778| 0.1 73,392 -0.6 176,170 -0.3
7R H 24,796 0.7 10,358 1.1 35, 1564 .2
PN, 3 25,628 1.9 12,890 -3.3 38,518 .1
/A 40, 066 1.4 18,066 -1.3 58, 132 0.5
H 23, 688 0.0 8,760 -0.8 32,448 -0.2
Il M 24, 088 0.4 8,116 2.6 32,204 0.4
I 59, 190 3.2 31, 464 2.0 90, 654 2.7
0] Fn 17, 996 2.0 6,354 0.1 24, 350 1.4
=2 2 22,128 1.4 8, 738 1.3 30, 866 1.3
A HT 18,364 -0.1 9,390, -3.5 27,754 -1.3
5 g 9, 190 1.2 7,094 -1.1 16, 284 0.2
=1 299,000| -0.6 173,846 2.7 472,846 -1.4

XOREEABEIT, CREABX2) THAELTWET,

& 1,390,412 -1.2 868,270 -1.9| 2,258,682 -1.5




o

OB R () NEOFM. [%] HliEstaiaEsmnes
| 7 g A I=EON wmom oA B (N
£ % E A % at % %

T iz 176,308| -1.1| 180,516 -2.0 356,824| -1.6
= H 103,372| 6.1 85,484| 2.0 188,856 4.2

= 1] = 13,754 0.0 6,504 -0.6 20, 258 -0.2
] T i 18, 852 4 10,342 2.1 29,194| 2.3
T i 292,980 0.9 94,972| 1.3 387,952 -0.4

i 25,078 7.8 10,132 -1.7 35,210 -6.1

<) 51,084 -1.0 27,6000 -0.3 78, 684 -0.8

HT 57,640/ 0.3 29,544| 0.1 87,184 0.3

=l 138,356 -1.3 62,826| -1.6 201,182 -1.4

o Il 28,772| 0.8 13,736 -2.3 42,508| 0.2

1% 35,342 -1.8 13,7221 -1.1 49, 064 -1.6

fox = 45,366 -1.9 27,016| 0.1 72,382 -1.2

I 4 35,896 2.3 15,350 -2.0 51,246 -2.2

1A 43,916 -0.9 19,696 -1.9 63,612 -1.2

i 166,266 -1.6 77,338 -2.8 243,604 -2.0

e 30,400 -2.1 10,312| -3.4 40,712 -2.4

1% ¥ 44,022| -1.1 17,966 -1.5 61,988 -1.2

+ = 33,020, 4.3 10,880 -3.6 43, 900 4.1

F 46,174| -3.5 15,148 -4.9 61,322| -3.8

XOREEABEIT, CEEABX2) THAELTWET,

& 1,386,598 -0.9 729,084 -1.0| 2,115,682| -0.9




n A () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
R 4 EOM % E A % 7t % %
PN =4 299,000] -0.6 173,846 -2.7 472,846 -1.4
H 1 18,530 -2.8 5,400 -3.3 23,930 -2.9
iit) K = 6,820 89.1 2,420 -25.4 9, 240 34.9
5] I55] 19, 392] -18.6 4,994| -20.3 24,386 —-19.0
[£3] o 7 11,084 -0.1 4,670 2.1 15, 754 0.5
JI ik 50,196| -1.1 23,998 -4.5 74,194 -2.2

XERABEIT, CEEARX2) THAELTWET,

& i 405,022 -1.0 215,328 -3.7 620,350 -1.9




T N () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 429,492 -1.8 338,554 -3.5 768,046 -2.6
H OB K G 27,640 -3.0 9,514 5.7 37,154 -3.7
5] oy g 33, 372 2.2 14,634 -1.3 48, 006 1.1
# P 7 111,420 -0.3 86, 552 -1.7 197,9721 -0.9
& = 70, 240 0.0 41,656 -1.8 111,896 -0.7
A JF 41, 158 .2 20, 488 0.3 61, 646 2.2
Hr N A 94,918 -0.7 47,4501 -2.2 142,368 -1.2
7N e 83,612 -1.4 43,846 -1.7 127,458 | -1.5
i ) 78, 748 0.5 38,956 -0.4 117,704 0.2
VN AN S 73,210 0.2 42,922 -0.9 116, 132 -0.2
T o R 31,010 1.0 16,212 -0.2 47, 222 0.6
iz} i & 160,092 -0.9 90, 136 0.1 250,228 -0.5
iy & 178, 152 0.1 92,968 -1.8 271,120 -0.6
W e 1% 25,972 0.8 10,690 -2.2 36, 662 -1.2
H i W 144,292 -1.0 59,448 2.7 203,740 -1.5
- I NI 34,684 -0.4 16,958 -2.3 51,642 -1.0
h2 ik 21,670 -0.1 8, 736 0.2 30, 406 0.0
oo i) 32,086 -1.4 14,586 -3.0 46, 672 -1.9
Fig e 69, 406 0.2 31,982] -2.6 101, 388 -0.7
[iic} + i 34,704] -1.3 13,592 -1.6 48,296 -1.4
+ 3 125, 818 0.7 87,048| -2.6 212,866 -0.6
72 I VAN 125,956 -1.1 80,064 -2.3 206,020 -1.6
K 1 JE 207,620 1.4 241,594 -0.8 449, 214 0.2
& . & 66,486 -1.0 40, 736| -1.9 107, 222 -1.4
E0] 48,624 -0.2 30, 118] -3.5 78,742 -1.5
XKEREANBEIT, CGREABX2) THELTWET,
= 7 2,350,382 -0.4]| 1,519,440] -2.0| 3,869,822 -1.1




R =3 )R () ANBOLM. T%]) A3 AR
il P 43 A g (N woawm AN B ()
R 4 EM % E A % it % %
R H 429,492 -1.8 338,554 -3.5 768,046 -2.6
AN T it 36,308 -0.9 21,376 -2.3 57,684 -1.4
el s = 5,002] -1.6 2,744 -1.2 7,746 -1.4
il 5, 13,940, -0.7 6, 528 5.8 20, 468 1.3
Hr N i 82, 644 2.4 48,980 -2.4 131, 624 0.6
BT R A 12, 396 0.2 11,578 -2.5 23,9741 -1.1
p. b 57,502 0.5 75,5021 -6.0 133,004 -3.3
H il w7 78, 438 0.3 31,010 -3.1 109,448 | -0.7
mooJI k= 7,632 5.6 3,756 -0.1 11, 388 3.7
B O T 1 7,570 -0.5 2,700 6.6 10,270 -2.2
4] e & 19, 420 4.0 18,536 -5.0 37,956 -0.6
oo &K W 18, 428 .2 7,152 -2.6 25, 580 .8
W FHOR 64, 294 1.4 41,750 -1.1 106, 044 !
S 7 R 1| B == 22,6141 -2.0 8,996 -3.2 31,610 -2.3
£ W 5 32,172 4.1 11,662 -3.8 43,834 -4.0
T % A ook 19, 576 1.1 10,292 -5.6 29,868 -1.3
#F E5 41, 986 0.1 19,902 -1.1 61,888 -0.3
KEEANBEIL, GREAEX2) TEHELTWET,
& 7 949, 414| -0.5 661,018| -3.4| 1,610,432 -1.7




